[ Efficiency vs vertpos |
- 05

Ratio
P
N

..........

9

0.8 . T
1072 107 1

10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWT203

~n 0.2
LT R T N S T
%] C . . . . .
Z0.16------ RN AL SRR AR 1 R P
> . . . . .

2 E : : : : :
Thuhny S I S

(8] L . . . . .
e T B ] R

o E : : : : :
O el RE I S R IR SIS
0.08F--- """" """"
T R S |

e
0.02F -+ ’i

Ratio
=
!
.

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

> F
2 0.09F

o J.G.: 5 N . .

= E B e o I

© o 5 5 5 5

x 1E e bl b oo obbES EREEe stREREEE
0.9 B EREEY B T8 EERPY ERRPY PP Rer

o T 0 ——

0.8T
=1

0-86-4-20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


